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Design of a Reservation System: First Attempt

nitial_panel:

—— Actions for Label 1.
_Flight_Enquiry_panel:

—— Actions for Label 2.
_Seat_Enquiry_panel:

—-— Actions for Label 3.
_Reservation_panel:

—-— Actions for Label 4%
_Confirmation_panel:

—-— Actions for Label 5.
_Final_panel: 1
—— Actions for Label 6.




Desian of a B tion System: Second Attempt (1)
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e )
execute_%tgl (\current-state} INTEGER) : INTEGER
~— Hafdle interaction at the current state.
Return user’s exit choice.
local
answer: ANSWER; valid_answer: BOO ; choice:
do
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display(current_state: INTEGER)
require

valid _state: 1 < current_state < 6

do
if current _state = 1 then
Display Initial Panel
elseif current_state = 2 then
-— Display Flight Enquiry Panel
else Level 3 execute

session

-— Display
end
end Level 2

e o execute_ , .
initial transition Sfalc is_final
Level 1
display read correct message process




2nd Design Attempt

d

class
STUDENT

create
make

feature -- attribures

~roiees; LINKED_LIST[COURSE]
ala=

’
w. EGER
~—nremidifRate: REAL

T a—
discountRate: REAL

feature -- command
make (kind: INTEGER)
do
kind := a_kind
end

end

get_tuition: REAL
local
tuition: REAL
do
across courses is c loop
tuition : = tuition + c.fee

:l.te' kind = 1 them\
Res = tuition * premiumRate

elseif kind = 2 then
Result : = tuition * discountRate
end
end

register (c: COURSE)
local
max: INTEGER

do
< ifkind = 1 then ?BX =6
£ ld = en MAX :=4

end
if courses.count = MAX then -- Error
else courses.extend (c)
end
end




Object-Oriented <
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current state

current_state.execute_session
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Read user
== answer’
<§;€§§;;;5end

answe#% ANSWER

choice: INTEGER

—-— Choic
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until
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defer end
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“require not correct
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deferred ass QZATE
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Read user’s inputs

Set ’"answer’ and
deferred end
answer: ANSWER
Answer for curr
choice: INTEGER
ror ne

—— Choice xt
display
Display
deferred end
correct: BOOLEAN
deferred end
process
require correct
deferred end
message
require not correct

deferred end
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State Pattern: Test

test_application: BOOLEAN
local
app: APPLICATION ; current_stat
do
create agg,mg&g (6, 3)
app.put_state (create {INITIAL}.make, 1)
—— 5?5;?3??;-}or other 5 states.
1‘ app.choose_initial (1)
—-— Transit to FINAL given current state INITIAL and choicHq
app.put_transition (6, 1, 1)
- §Eﬂzlarly for other 10 transitions.

index: INTEGER
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current_state ):=
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check Result end
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